TIRE
WIDTH

This L'Ifl‘.'E-dl.!.ill'l.rl'lE&l
repredentd the width of
e pre's fosatpring (from
shoulder o shmder

TIRE SIZE EXPLAINED

ASPECT
RATIO

Thee sacand nurmber B
e height of the
sidewidll measuned a5
o [pEroemage of the
bre width. WWhen e
st rafen i AU hat
eans 1 sideveall
Pl i 0% of the

RIM
DIAMETER

Thee last rusmber of the
e slae indscates the
Sizme of the wihesal
weaded for tetire.

Thes = measured In
nches, trom bead Lo
bead afnoss the face of
fhi= e

Harg [he Ere has 1o be
rranbed on a 17-inch
wiee]

LOAD
INDEX

e load index i the
riamiber that shows the
Iaad durability of a

Speahcire
CEErines oy the tire
sire and the gl leveds

Tires with higher ipad
niiewes G Mk

HITECT WaTe(s

SPEED
INDEX

The speed rating &
the iemer locaned
after the ioad indes.
It represencs the

s speed &

rmeéasured in milimeters.

I thies came, thes tire width
£ 245 mm

tire can safredy
handle vwithous the
prrea bty of tins

Ll kire

bre width

Tire Width — This three-digit number represents the width of the tire’s footprint from shoulder to shoulder measured in
millimeters. In this case, the tire width is 245 mm.

Aspect Ratio — The second number is the height of the sidewall measured as a percentage of the tire width. When the
aspect ratio is 70 that means the sidewall height is 70% of the tire width.

Rim Diameter — The last number of the tire size indicates the size of the wheel needed for the tire. This is measured in
inches from bead to bead across the face of the wheel. Here the tire has to be mounted on a 17-inch wheel

Load Index — The load index is the number that shows the load durability of a specific tire, determined by the tire size
and the psi levels. Tires with higher load indexes can handle larger loads.

Speed Index — The speed rating is the letter located after the load index. It represents the maximum speed a tire can
safely handle without the possibility of tire failure.

Wheel Diameter = 2(Tire width(mm) x Aspect ratio / 25.4) + Wheel height.
Example 2(235*.75/25.4) + 15 = 28.87 inches tire diameter

Gear Ration: New tire size * old ratio / old tire size = New ratio
Example: 32*3.31/28.87=3.67



Speed limit for each Based on the load index rating chart, 94 corresponds to a tire
symbol. load rating of 1,477 Ibs. at maximum air pressure. So, the
maximum load-carrying capacity of all four tires would be 4 x
1,477 Ibs. = 5,908 Ibs.

Speed Speed Load Load Load

Symbol Index Pounds Kilograms Index Pounds Kilograms Index Pounds Kilograms
L 75 mph
M 81 mph 70 739 Ibs 335kg 89 1,279 lbs 580 kg 108 2,205 |bs 1,000 kg
. SLe 71 761 Ibs 345 kg 90 1,323 Ibs 600 kg 109 2,271 lbs 1,030 kg
P 93 mph
Q 99 mph 72 783 Ibs 355kg 91 1,356 Ibs 615 kg 110 2,337 |bs 1,060 kg
R 106 mph 73 805lbs  365kg | 92  1,3890bs  630kg | 111 2403lbs  1,090kg
S 112 mph
15 118 mph 74 827 lbs 375 kg 93 1,433 |bs 650 kg 112 2,469 lbs 1,120 kg
u 124 mph
75 853 1b 387 k 94 1,477 Ib 670k 113 2,535 b 1,150 k
H 130 mph ’ ¢ : ¢ N ¢
\Y 149 mph 76 882 Ibs 400 kg 95 1,521 lbs 690 kg 114 2,601 Ibs 1,180 kg
o a9 ek 77  908lbs  412kg | 96  1565kbs  710kg | 115  2679lbs  1.215kg
Y 186 mph
(Y) 186 mph+ 78 937 lbs 425 kg 97 1,609 Ibs 730 kg 116 2,756 Ibs 1,250 kg
79 963 Ibs 437 kg 98 1,653 Ibs 750 kg 117 2,833 Ibs 1,285 kg
80 992 Ibs 450 kg 99  1709lbs  775kg 118  2910lbs  1,320kg

81 10191bs  462kg 100 1,764lbs  800kg 119 2,998lbs 1,360 kg
82  1047lbs  475kg 101  1,819lbs  825kg 120 3,086lbs 1,400 kg
83  1,074lbs  487kg 102 1,874lbs  850kg 121 3,197lbs  1,450kg
84  1,102lbs  500kg 103 1,929lbs  875kg 122  3307lbs  1,500kg
85  1,135lbs  515kg 104  1984lbs  900kg 123 3417lbs  1,550kg
86  1,168lbs  530kg 105  2,039lbs  925kg 124 3527lbs  1,600kg

87  1201lbs  545kg 106  2,094lbs  950kg 125 3638lbs  1,650kg

88  1235bs  560kg 107 2149lbs  975kg 126  3748lbs 1,700 kg



